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QUESTION 1

Why is it important that the tester use the correct test design technique? 

A. To achieve the correct level of coverage at the agreed point. 

B. To improve the test basis. 

C. Toimprovethetestobject. 

D. To generate as many test cases as possible. 

Correct Answer: A 

 

QUESTION 2

Which type of tool is used in the Execution phase to test a module or component that has a relationship with programs
that have not yet been realized? 

A. code coverage tool 

B. comparator 

C. \\'model-based testing\\' tool 

D. stubs and drivers 

Correct Answer: D 

 

QUESTION 3

See the following specification: 

How many test situations are produced when the coverage type decision points condition/decision coverage is used? 

A. 2 

B. 3 
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C. 4 

D. 8 

Correct Answer: C 

 

QUESTION 4

Which TMap phase may be located on the critical path? 

A. Planning and Control 

B. Specification 

C. Execution 

D. Preparation 

Correct Answer: C 

 

QUESTION 5

See the illustration below: 

In order to test a registration application for a weekend trip, logical test cases must be created according to the Data
Combination Test. It is agreed to conduct light testing. One data pair is defined that must be fully tested in combination: 

-day ?attraction 

Using a classification tree, six test cases are designed. 

Where should the \\'bullets\\' for test case 4 be placed? 

A. Saturday, zoo, 2nd 
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B. Sunday, zoo, family car 

C. Sunday, zoo, 2nd 

Correct Answer: C 
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